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wA  mis the gradient, and shows the steepness of the ling, it
can be calculated by dividing the rise (change in y) by
the run (change in x) between any 2 points on the line

c is the y intercept, it is the point where the line crosses
the y axis.
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the sum of the square of the 2 shorter sides is the same
as the square of the longer side of a right angle triangle.
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(€) An engine crankshaft has an angular velocity of 5027
the angle in degrees through which a crankpin rotates
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5. (a) State TWO fundamental units.
(b) Explain what is meant by derived units

(c) A cylinder with an internal ¢
with a depth of 6 cm, The

Determine the
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ok this is hard becuase of the units, | can j /{_V\H ‘/

give the density in cm3/g, but | need to
convert those mm2 to cm2
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d\) scalene triangles have all sides different lengths
all angles different values.

) angles inside of a triangle sum to 180°
|

%0 - (‘5‘ «¥3) =

WY

vertical angles have the same value
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6L
angles inside of a triangle sum to 180°
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| will take this as a typo, as the object never
reaches 9 m/s, if not a typo then t = NA
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sum of clockwise moments = sum of anticlockwise moments
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sum of DOWN = sum of UP (forces)
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as | think this is a typo, | think you were asking for effciency, so ill calculate that
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